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You are allowed 60 minutes for this test.

There are different types of questions:

Multiple choice
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Shade in an answer bubble 3 in each row of
the table.

Open response

Write your answers in the spaces provided
within the test booklet.
Do not write outside the answer spaces.
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Grade 5 Science

A metal spoon heats up when it is left in hot tea.

Vi

How is heat transferred along the spoon?
O By combustion
By conduction

By convection

0 0O

By radiation

y4 \Which substance is essential for life on Earth?
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Grade 5 Science

Which energy resource is renewable?

O Coal
O Petrol
o Oil

o Wind

Which process is similar to the evaporation of water from the ocean?

O

Freezing water to make ice cubes
Boiling water in a kettle producing steam

Melting ice cream in the sun

0 0O

Setting jelly in a fridge

Mariam builds a series circuit as shown below.
She connects two bulbs and a battery.

The bulbs light up.

bulb bulb

X

4[

| S—

battery

What could Mariam add to the circuit to make the bulbs brighter?

O A switch

O Another bulb
O Another battery
O

More wire
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Grade 5 Science

What is always the source of energy for a food chain?

O Plants
The Sun
Water
Wind

000

Which process is part of the water cycle?

O Erosion

O The storage of energy
O The greenhouse effect
O

Evaporation

wood
oil nylon
iron ore
polythene
solar power
Natural Resources Man-made Resources
GROUP 1 GROUP 2

Faisel is sorting resources into groups.

Which resource should Faisel put in Group 17
o Water

O Detergent
O Glass
(.

Plastic
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Grade 5 Science

¥ Chemical energy is stored inside a battery.

Which energy change takes place when the torch is switched on?

O Chemical energy = light + heat
Chemical energy = light + chemical energy

Chemical energy = heat + sound

000

Chemical energy = sound + electricity

Which pair are examples of consumers?

Sun corn field mouse owl

Corn and field mouse
Owl and Sun

Field mouse and owl

0000

Sun and corn




e}l&—uwo&\@.aj\

% 515 3 sb S 0Ly 3 i N doeoeall Ll 2 Lo
Jit o

000

SUAS gk

s 1 e o Moo emy (01 Jazm Y1 52 Lo
&ﬁ?\é&&\& O

2l el oLl Ao O
oy Jo Jl ool 4 O

sl d el (008 s A L) O

10




Grade 5 Science

What is the correct word for the flow of electricity in a circuit?

O Conductor
O Current
O Resistance
O Voltage

What is an example of filtration?

O Boiling water in a kettle.

O Freezing water to make ice.

O Running water through sand and gravel.
O

Adding a teaspoon of salt to water.

11
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Grade 5 Science

13 Decomposers break down dead plants and animals.

Which organism is a decomposer?

O O () ()
Butterfly Grass Mushroom Rabbit

- Why should fossil fuels not be wasted?

O They are made from decaying plants and animals.

O They are usually found underground or underwater.
O They can easily be replaced by other energy sources.
O

They take many millions of years to form.

What happens when you run a race?

O The blood is pumped around the body more slowly.
O The heart rate increases.

o The muscles stop working.

O The body stops sweating.

Which of the following is not an example of the movement of energy?

O A picture attached to a wall using a picture hook

O A metal skewer heating up as one end is placed in a barbeque
O The Sun’s rays travelling to Earth
O

Electricity from a wall socket connected to an air-conditioner

13
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Grade 5 Science

The picture shows part of the water cycle.

;]

)
N~
_\'_'.G;

NG

R

BRIA
Nk

)

Students wrote some statements about the water cycle.

Which statement is correct?

O Water precipitates from lakes to form clouds.
Water passes from plant roots into the soil.

Heat from the Sun condenses water vapour in the air.

0 0O

Clouds become heavy as they cool down and it rains.

15
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Grade 5 Science

We can feel the heat of the Sun even though it is millions of kilometres away
from us.

How has the heat travelled through space?

O By conduction
By convection

By radiation

0 0O

By reflection

Bear

Lettuce Rabbit

Which animals are the prey in this food chain?

Lettuce and rabbit
Rabbit and fox

Fox and bear

0 00O

Bear and lettuce

17
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Grade 5 Science

Which energy change occurs when water is boiled on a gas cooker?
O Chemical = heat

O Heat - light

O Light = movement

(@)

Movement = chemical

A slug eats leaves.

A small bird eats the slug.

A bird of prey eats the small bird.

What is the correct food chain matching the above statements?

O Leaves = slug = small bird = bird of prey
O Slug = small bird = bird of prey = leaves
O Small bird = bird of prey = leaves = slug
O

Bird of prey = small bird = slug = leaves

19
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Grade 5 Science

Mariam builds a parallel circuit as shown below.

She adds a switch to the circuit so she can turn all the bulbs on and off at the
same time.

battery ]7

——

X &

Where must she put her switch?

O AtW
O AtX
O AtY
O AtZ

21
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Grade 5 Science

Solar panels capture renewable energy from the sun.
This energy is transformed into a more useful form for people to use.

What type of energy is this?

Chemical
Movement
Electricity
Sound

0000

copper

This saucepan has a copper base and a wooden handle.

Explain why some saucepans have copper bases and wooden handles.

23
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Grade 5 Science

We drink the same water that dinosaurs drank because the water cycle has
been continuous for millions of years.

Humans now interfere with the natural water cycle.

Describe two ways in which humans interfere with the natural water
cycle.

The drawing shows four living organisms.

bird plant caterpillar cat

List the names of the four organisms in the correct order in the food chain.
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